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Time : T'hre"e hours” Maximum : 75 marks

10.

‘What is meant by Quartiles?

*" PART A — (10 x 2= 20 marks) -
~ Answer any TEN questions.

What is meant by Primary Data?
W6 Hevaos Lyete eremmmed areen’?
What is meant by Questionnaire?
efamggrefien Qur@mer wrg ?
What is Pie Diagram? ‘
QUL efllem&aLILL LD GTEmmmed Grammen? *
What are the components of a table? -
QT DL cuenenTufetr 2 1 g mS6T WiTeneu?
Define Median.

QoL flenay uepmim.

-sréwiisafen QuTmeT ws?

Give any four examples of measure of dispersion.

Sgmed SiaTenausatier gCGaaitb pren@ 2-gnyertd AsT(.

What is geometric mean?

Qupssed sy eTanmTed cremen?

Calculate harmonic mean
20, 25, 30, 35, 40

Qs srref sansd(Ha. .

20, 25, 30, 35, 40

Find Mode:

45, 55, 50, 45, 40, 55, 48, 55, 60

WPps@H STas.

45, 35, 50, 45, 40, 55, 48, 55, 60

Stabilies

Ql.—-—m rx

.



11. The values of mode and median for a moderately skewed
distribution are 64.2 and 68.6 respectively. Find the value of the
mean. ' ' '

&rpp ureueldr Ws@ LHDIL G Hana (QQGU)[DGUJ 64.2, 68.6 g@.
srreflanws sanssHs.
12.  Find standai'd deviation:
40, 50, 60, 70, 80, 90,100
AL eflawsatid s &8 (DS
40, 50, 60, 70, 80, 90, 1\60. , )
| PARTB— (5x5= 25 marks)
Answer any FIVE questions,
13. Explain the characteristic of Statistics.

qmaﬂuﬂueﬂsisr u%&ma;mm afleurl.

14. . What are the characteristics of Good average?
mweveh grmefludien LT S6T Wraneu?
15. + Find out the mean profits
" Profit per shop (2): 100-200 200-300 300-400 400-500
No. of shops: | 10 18 - 20 26
Profit per shop (%.): 500-600 600-700 700-800

No. of shops: 30 28 18

- gpnefl @arub sansd@Hs.

PGl SL&GLD 100-200 200-300 300-400 400-500
@emub (T.):

samLsaflan ereirentisems: 10 18 20 26
@euQeun(p SamL_&ELD 500-600 600-700 700-800

@é)rrufo @y |

S L_gat e eTevTentiSans: 30 . 28 18
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24.

Calculate the measure of skewness based on quartiles from the
following data:

Class interval: 10-20 20-30 30-40 40-560

Frequency: 358 2417 976 129
Class interval: 50-60 60-70 70-80
Frequency: = 62 18 + 10

QemeugHid efeurmiseflel(Hhg HTOWRISMmET SiglineLwungs Qs ramr®
Canl_L eTeneus Sanss([Hs.
Gfay Ge_Gesefisdr:  10-20 20-30 30-40 40-50

216960\ GG 358 2417 976 129
9fey Qe Qeuaflger:  50-60 60-70 70-80
Sl @ 62 . 18 10
6 60532/BYB3A/CYB3A

16. Mean of 100 items is found to be 30. If at the time of calculation
two items are wrongly taken as 32 and 12 instead of 23 and 11.

Find the correct mean.

100 Qurvr@l'_a;aﬂ‘skb'[ gyrefl 30 erem satLOWiul L gl U6y
saisA@n Gurg 23, 11 eaanp @Qrem@ aansEnse udons 32, 12

éein'gp aremsat ar(hdgs Asmatariul L gl HmsHu syraf &8 [Hs.

17. Calculai;e the median:

Value: Less than 100-200 200-300 300-400 . 400 .
5 100 ) and above
Frequency: - 40. 89 148 64 39

Qe flanc samsS([Hs.
whi: 100 s@b &p 100-200 200-300 300-400 400 s Cuoéd
e AALTE K 40 - 89 148 64 39

18. Compute standard deviation from the following data:

- Marks: 10 20 30 40 50 60
Frequency: 8 12 20 10 7 3
Qéraumid G,s\@mam@@ AL cflessi snems.
. wflQueimser: 10 20 30 40 50 60
;.m;oamm: 8 12 20 10 7 3
19. In a frequency dis,tributioﬁ the co-efficiént of skewness based on

‘\qua'r'vtiles is 0.6. If the sum of the 'upper and lower quartiles is

* 100 and median is 38, find the value of upper quartile.
@ mabeusr uq@c&é\), STOESMET  SlgILMLLITE . oSS
samsS_ul L GamlL iateneud Qs = 0.6, pgamd LOHDHILD EPETFDTLD
srdwEsda mOs0 100 @seb, Gofom 38 gsab Qs

SIBET AP STDLE®SE SamEH[S.
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PART C — (3 x 10 = 30 marks) 22. The age in years of 50 persons is given below

~Answ;al" any THREE questions. ; ‘ 32 61 ~5'2’ 56 22 49 97 35 20 30

20. Find out Median from the following frequency distribution: 9 67 42 20 31 64 20 10 62 60
© Weight (ingms): 410-419 420-429 430-439 440-449 2753 31 9 54 25 43 47 35 21
No. of Mangoes: 14 20 . 42 54 43 75 4522 36 13 46 23 51 11

| i 15 39 50 42 77 73 81 40 40 55
Weight (in gms.): 450-459 460-469 ' 470-479

Prepare frequency table taking 19-19,20-29, ... as class intervals

No. of Mangoes: e i % z_md calculate modal age.

Ylemeu(pid Sieme@euat LeuellalBHg el Hlanaamus sres. ' : 50 puirsdr euwg) (yam@aaiier) EC Qar@asiiu’_Gdarg.
Pleop (Hymbsaficd): 410-419 420-429 430-439 440-449 -+ 32 61 52 56 22 49 97 35 200 30 ‘
Tl 14 20 49 54. 95 67 42 20 31 64 20 10 62 60

., 27 53 31 9 54 25 43 47 35 21
Blenp (Hymbaseficr): -450-459 460-469 470-479 ' ‘ :
, 43 75 45 22 36 13 46 23 51 11

SNl h- o e 15 39 50 42 77 73 81 40 40 55
21. Find out the quartiles of the following distribution: : 10-19; 20-29 ... erémp 9fay @i Qeuafisenass Aanam® ianaGauar
Class: 0-10 10-20 20-30 30-40 ureud Bl Leuamanan swnflés. Gugib Wws@ sarsdHs.
Frequencsr' 9 18 30 45 23. Calculate the standard deviation for the following distribution:
| . © . Class:  0-30 30-60 60-90 90-120
Class: . 40-50 50-60 60-70 70-80 | : )
Frequency: 9 17 - 43 82
Frequency: 35 20 6 -3 ‘ ‘
Class: . 120-150 150-180 180-210
Deiraupid Sane@eudir LTeU(HHS ETOLRIGENETE STaTs. ' Frequency:. 81 44 ‘ 24

ﬁ]ﬂa{@mt_@maﬂa;d'r: 0-10 10-20 20-30 30-40 LQGBTQJ@L'D aqcmm@]sumr UUQJG&G&@‘I};Q QLLQQ]GD@SGS,LB 8;6661’@@!4&561]&‘

Sme@adr: 2 18 30 45 Gfley @en_Qeuafisar:  0-30  30-60  60-90  90-120
Gfle) @ Qeueflser:  40-50 50-60 60-70 70-80 - | SlewaCaud: 9 17 - 43 82
, | \ 9oy @a_Qaiafsar: 120-150 150-180 180-210
2460600l e 35 20 6 3 14; . g
Sena0leué: " 81 44 24
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